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Interferomeéter — Renishaw XL80

Retroreflector

Laser head
Gi‘ C% Movemem

Beam splitter Relroneﬂoctor




Interferomeéter — Renishaw XL80

Metric Imperial
Standard range 0-80 m 0-3200 in
Accuracy (with XC compensator) | +0.5 ppm *
Resolution 0.001 ym 0.1 yin
Maximum velocity 240 m/min (4 m/s) 9400in/min (160 in/s)

Note: The accuracy values do not include the errors associated with the normalisation of the

readings to a material temperature of 20 °C.
* k=2 (95% confidence) EA-4/02, ISO



Interferomeéter — Renishaw XL80
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Interferomeéter — Renishaw XL80

Imperial

Metric
Axial range 0-15m 0-590 in
Angular measurement range +175 mm/m +10°

Angular
accuracy

High accuracy
angular optics

+0.2% 0.5 +0.1M pm/m

+0.2% +0.1 £0.007F arc
sec

Standard
accuracy angular
optics

$0.6% 0.5 +0.1M pm/m

+0.6% +0.1 £0.007F arc
sec

Resolution

0.1 pm/m

0.01 arc sec

Where:

M = measurement distance in metres
F = measurement distance in Feet
% = percentage of calculated angle



Linearis elmozdulas merdk vizsgalata



















Vizsgalt induktiv adok

Mérési Elvart pontossag Vizsgalatkor a
tartomany méréskoz

Hottinger WETA 1/2 1 mm + 0,008 mm 0,2 mm
Baldwin WA 20 +10 +0,08 2
Messtechnik = o mm =L0emm mm

WA 40 + 20 mm 0,16 mm 4 mm

WA 50 50 mm +0,2 mm 5mm

WA 100 + 50 mm 0,4 mm 10 mm

WA 200 + 100 mm + 0,8 mm 10 mm
Turck Turck LI400PO 400 mm + 0,3 mm 10 mm



Merési eredmenyek




WETA (Teszt 3)
Maximalis javitas: 10,59 um
Legnagyobb eltérés (oda-vissza): 3 um
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WA 40mm (Teszt 5)

1,6

1,4

1,2

0,8

0,6

Eltérés (mm)
(Renishaw-WA)

0,4
y=137-107-x%-327-10" - x*> +2,40-10° - x* —0,00071- x> + 0,007712- X°
+0,02803-x—-0,0812
0,2
0
0 4 8 12 16 20 24 28 32 36 40
-0,2

Mérési helyek (mm)




Maradék ellentmondasok
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Mechanikus mérédéra 50mm
(Teszt 3)
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Kalibralo pad
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Zwick korrigalt (Teszt 1)

|

i

]
‘MNMJMH“‘,N"L“‘ :rt 1‘\!";‘“ “ ‘yﬂl/“' !|‘ i u‘! i E !‘|‘u'l'vi'|' W -
A

|

M'l”'




Relativ eltérés (%)
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Slope Indicator ,,beam sensor”

Beam spans distance between anchors. Tilt sensor measures tilt of beam. Anchor

Single beam is similar to tiltmeter Linked beams monitor differential movements



Slope Indicator ,,beam sensor”







Slope Indicator ,,beam sensor”

mm/  =C5-EL>+ C4-EL*+ C3-EL3+ C2-EL?> + C1-EL+ CO




Vlérések tervezése
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Vlérések tervezése
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Meresek vegrehajtasa










i Mert ertekek es a regresszios polinom
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Meréesek feldolgozasa

f(X)=p, - X+ Py X+ Py X2+ Py X+ pg X2+ X2+ P, X+ P,

P, -0,1507

P, 5,302

P; -79,6

Pa 660,4

Ps -3270

Pe 9659

P, -1,576*10°

Pe 1,097*10%




Eltérés az elméleti és tapasztalt délések kozott
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Egységugras (Teszt 8)
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Dinamikus jellemzdk

Teszt 7 Teszt 8 Teszt 9 Teszt 10 Teszt 11 Teszt 12
Atviteli tényezé
-0,18 -0,18 -0,18 -0,18 -0,18 -0,18
Maximumidé (T,,)
1s 0,9s 1s 1s 1s 1s
Szazalékos tullendiilés (0S%)
12,0% 14,2% 14,2% 14,1% 13,3% 13,6%
Felfutasi id6 (T,)
0,7s 0,65 s 0,7s 0,7s 0,7s 0,7s
Szabalyozasi id6 (t,)
1,4s 1,4s 1,4s 1,4s 1,4s 1,4s




KOszonodm a figyelmet!




